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Answer any

el ST R s e TEd T
R eI -CRPICA! Sb16 ACAR S TS

(@) To electrify a neutral body, we need to

(b)

(c)

(d) Obtain th

eight questions from the following as directed
1x8=8

00

oo

or one
(Fill in the blanks)

kind of charge.
‘ L
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(=T 7 )
Mention the fundamental characteristic of a conservative force.
1
5 TR e IO Tl CamiEIcel S |

aﬁwﬂawmﬁﬁWWﬂW|

Which factor is responsible for drift velocity ?

w7giE (@5 AR (@ECE T AT
oI (AT T G P M

e unit of j from the expression [ :j. AS .

[=7.AS st Ao 7S 9 @ a9

[=7. A5 e Al J -G8 G ef |
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(e)

(9)

(h)

()

In case of an

: electron movin }
determines the pitch of mdtion% along a helical path what
; 1

.“’a?cj b3 ‘iﬂ
P O IF G] 2EEE (Fqw Mo 19105 ez fHefg w2
.\ . = = g

2 A current is flowi
owing through a sol - :
per metre. Calculate the ma?gnetic ilf;il;ii;agng P A
5 LB 1

#fe e 1000
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AR, HI S Sl a5 | &5 M 2 A [Rgie 2_ifee oz G

o fiibiE 1000 “ge <l
& R ;
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What is the unit
of magnetic 2 e
scalar quantity ? i flux ? Whether it is a vector or

Wﬁamam%?iuﬂﬁ@@amm@ﬁv
RIOR I 453 o2 oS @3 (039 M czerm Qe

An AC volta = ] I
8¢ V=V, sinot is applied to an electrical device

If i=1, sin(et- 7/2), w
m ,»» What can you say hase
¢ about the p
difference between v and i? Name the device 1/+1/__—81
0 2 2

o1 e : : wifRes
AR KA v = v sinwt @R Qe wifRars el stz o
V=1 Sin(a)t~7r/?) 2, (S0%F v ] F{Fv?—‘

n 2) =3, SIS 9 e N A1 TEe By
oMif 2 SnfEeifem wm B g
Gl ARRS KR v=v, sinot & 2R Qe TR omm B
26307 /| AW i=i sin(wt—/2) T, OE v G=R <97 AEE 7 ) sﬁ@
TS o % e ARE ? TeiRER AW @ |
Mention the missing term in Ampere’s circuital law. 1
GRS 8] [ide Tuie @R[ I S = |
SfEE a6 fiice swge a zen afkb Ser e |
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Mention the condition where Snell’s law of refraction cannot
be satisfied. 1

9 9Bl b Ty 91 RBre (Fe aifestseis Tifecs! eiarsy =23 |
Il G 1O S T @ADTS (Fe-aF 2ifSReR Tl e 73|

State one difference between interference and diffraction.

S S SRS oo L <GB 2127 Sl 41 |
TGS TR SPREER Ty AT 9 N S & |

Fill up the blanks in the following equation : : il

..........

..........

Arrange Balmer series, Lymen series and Paschen series of
emission lines in the spectrum of hydrogen in the order of

increasing wavelength. i
213 (e FelfeTrS o AEIPTTRS SIS (T, o0 (el i ooy quiies
G SRS A |

ZRreieA e FAfH PR TR R, B o qee o
T T SRAC A |
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) 1
t

nuclei.

f two lighter (A <10) nuclei fuse to form a heavier nucleus

hen the binding energy per nucleon of the heavier nucleus is
than the binding energy per nucleon of the lighter
(Fill up the blank)

1

At 701 Aot (A <10) ez ke 2 9Bt sigg FSETE 7% 0= (o0w
QECREICIER 7R J%ﬁ%ﬁ@ﬁ:ﬂmwvﬂwﬁﬁﬁmﬁzﬁ?ﬁﬁ@m@

(77 3% 79 7))

3 7 e (A <10) ROERME i’ye ww @l oft e 5 =@
SR Sl e afe FRefarm Iarie e R 7oy ofs

| (98 = 1)

(0) - What is the range of electrical conductivity of semiconductors

i

f the resistivity lies in the range 105 — 106 Qm ? 1

M SRR @iareR Ref 105 - 1060m = oo 30w e
sffaifeer f[gfe fem 292

W TRARE @ioR Regfe 105 - 1050m = o= <@ e
AfiEeR R 7o 7@?
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Answer any ten questions from the following as directed :

2%10=20
S s Al Rz weht 2ne Tt Al ¢
SAIE T G (g I ArE Be e 8

If 10° electrons move out of a body to another body every
second, how much time is required to get a total charge of 1 C
on the other body ? (Express your answer in second). 2

9Bl T A< SR o e dfe (@ewe 10951 BEER R 9y |
IGIOTS Jo0o 1 C SN Gl T e TR #R 2 (TG00 (AF4® vl
1)
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93T T (AT O 3T Tw0© 2% GEte 1097 TEEeE s 90 | | _
TGS A6 ICWW;W;E%W @W;?’g\;r%g ' o:: o' i ) ' (d) A battery of emf 10 V and internal resistance 3 Q is connected
, i S TS A3 (17 (T (CICF0e 2/ 1) ' to a resistor. If the current in the circuit is 0-5 A, what is the
(b) Calculate the potential at a point due to a charge of 4 x 107 C terminal voltage of the battery when the circuit is closed ?
located 9 em away. Also obtain the work done in bringing a _ %
charge of 2 x 1072 C from infinity to that point. 1+1=2 10 V +fSsias R biere 6 S0 3 Q SI@EiaT 5, (@01 @6 GO
4 x 107 C SRS #R1 9 em 7 W <5l Rgs faq 9 sl < aﬁ; Tcmé.\"‘ RAGIHIS 2 0.5 e e S e
SIS SRR #A91 O RYCGitst 2 x 10-9 C i SIiEits sReesta ek S TN
T el 4| 10 VARSI Re 5107 361 9% G35 3 O LRI, G=if6 <GB I
4 x 107 C'NAAT (X0F 9 om T A b Rers Frerm w1 1ok <vcan | | A S 2 S| TOACS &R 0-5 A T ST T S IO
B S (A TG RYHCS 2 10-9 C I SINTe T i T Ry ~, A freare v '
Pl _ | (e) Write the expression for magnetic force F when a-charge g
(c) An electrical circuit is shown below. ' 2 moving with velocity 7 enters a magnetic field B and then
L P by define s INtes|afi()" ) : Yot 1 Ve=2
TS G5l (@feT Toe] (TYe 24 | . (7) : b+ 1%
i t Wm_m e 9ol O g, 7 @OIE of IR B GIfF oFg 9w 4EH T ,
= s \9 \9 ) —~
i (e 7o i I e ol QIR T o oI i 1 G ()R e |
T G W4 g, 7 @ oS TE GFO B BT GGG A @, SIS
05T i QD (ETCA @R OF (A 1 G (T) - TR W€ |
()7 You know that the magnetic potential energy Uy, is given by
l i U = |
' where m is the magnetic moment. State the conditions for
" obtaining (i) most stable position and (i) most unstable position
of a magnetic needle. 1+1=0
CONITETS S (T G [ «fes oore s wie e S W1 TS m
Show that .1 A (G o | WE §EE GUER (i) DR e SE i
(e 3, | (ii) S5EeE wifsm SRgH (PIKIR SOCREh! Srae 3 |
@e @, \ (SR & @ W%@“I’F@@Wm.@waﬁﬁﬁﬁi @A T
| G aws | 3% TFeId AT (TR) (i) 9 (AP PrE T a=g
Pag i I T | ok —~ 2 s
i e R W N , (i) FALT O TEH ISR *oal SEd FE|
T ntn : :
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(g) From the diagram shown below, made by a conducting wire
MSRN and a movable wire PQ, write the expression for magnetic

flux ¢, through PQR"S. From it obtain the expressionv as
= Blv. Name the quantity Blv. Yot 14+Y6=2
wod sl GoE ARIE $" MSRN i duiE SfeTm 99 PO 7R
o 1 (202 | PORST A& i1 72 (AT (5175 T ¢, 3 20| <(Rich)
ol | 229 2| (Pt mww—maﬂ £ = Blv | Bly IR
ﬁﬂm
e et @3 R OF MSRN <=k &6 {1 S PO =Rl
oulE <1 2R | PORS-4d %) e =118 20 i mﬁwm 4, G e
ARG @ | G (A (TS (T SRS [ 515 T ¢, = Bl | Bly 2iféifeg
A el | '

r—>1m %i'

inductance 44 mH is connected to 220 V,

(h) An inductor of self- ‘
50 Hz ac supply. Determine the rms value of the current in
i )

the circuit. ; 5
44 i FESIEeE <5l 220 V, S0 Hz o aroT ® G 791 0z s | TS e

oi2d (T ol T et
G 44 mH FENEET 220 V, 50 Hz TR HH WA T A
ﬁﬁz@m%a@mmﬁ@—mf.

—
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()

Show that in the case of spherical mirrors f=R/2. 2
MRC @ CAETPIS WICANS (Fa99 f=R/2 |
(rile @ CAllEIE TR O f = R/2 |

What is the focal length of a convex lens of focal length 30 cm
in contact with a concave lens of focal length 20 cm. Is the
system a converging or diverging lens ? : etis—0
30 cm THE (9R ©GE (711 G 20 cm TR (TR SR (577 G2

BN SR RETEY mﬁvﬁﬁaw‘@wmﬁmﬁ?w (FTFE
TEH (7] SR ¢

<36 30 cm (@I TR Oer (779 <0 20 em (PP TR SR
EER AP A AR | T AT TNEe (PR () 7 e

I OEs i Seee ?

Draw diagrams to show the refraction of a plane wave by
(i) a thin prism, (i) a convex lens. 1+1=2

(i) <G #ites f2rem O (i) 93F TeR (FETe SNPifow Fes WNkei eiferEe
@R (YRR o SRE 4 | ‘

(i) <51 #iieel e @8 (i) @ e @ Weifes ANSH SHH ey
287 @A &= ba oFd 61|

What is the de Broglie wavelength of a bullet of mass 0:040 kg

travelling at a speed of 1-0'kms™ ? 2

1:0 kms-! BT 917 741 0040 kg T T G| COF Ol T4 Wity
ETIEEEE: i,

10 k! ws sffere 1 b 0-040 feg O TR ST T 1 SR
PO T ?

20 / PHYS [9] ' Contd.
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(m) Draw a graph representing variation of number of scattered
particles detected with respect to scattering angle in a-particle
scattering. ' k)

o-FIFR Feggee RgRe w7 710 [emd @R 5ot Rme RS 27,
GO (57 S PR (TS |

o IR vl [mgfde s ke Reggel @iem 1w Sie giEsicoien
G (TR ST D@ A | ' '

(n) Write few lines on nuclear force. 9

TCFIT o9 eolie @A ol |

(o) Write at least one line on each of the following and name the

materials : _ 1+1=2
(i) Eg>3 eV and (i) E;<3 eV ‘

TS fRITTES 99178 STEe; TR ICD 1Rl S ATeRsR =fwjef 1w R &
(i) E;>3 eV 9% (ij) E;<3eV. |
Fraresfn Suim o 3T AR @ 9K AT IFEE M [
T4 8 .

(i) E;>3 eV @8 (i) Eg<3eV.

Answer the following questions : 3x9=27

weTo Al erTEd TeF el ¢

Explain the meaning of the statement ‘electric charge of

al (i) Ing
i a body is quantised’. 1%
(ii) Estimate the number of e.],ectrons 'transferred'When a
/ polythine piece rubbed \Iﬂlth wool is found to o
negative charge of 3 % 10, 17

) 9% G5R AT SR CFRITE QIE FARE g -
(i) AR Gt B BT TR T 3 x 1071 C W i e s

e FAEES 3Ega AR FEP

[10]
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() o= TR @PT SN FReE — «F S T FE@
(i) T ARG 551 T B WA= 0T 3x10-L C T T S
I 2 IS RESTER Hed il el |
OR [ 731 [ we) '

Two parallel plates,' each of area A, sep'arated by a distance d have
charges Q and — Q on them respectively. Considering d2 << A, find
out an expression for capacitance of the system. 43
T TG (b T Q T — O TS o Ao A ragwe] [RS s7ia
d IS WC2 | d? << A I 419 051 TR aiwmes <5t 2w i e w1
70 TS (20 T Q IR ~Q NS IR Aol A CFarARRE st o
TIHIC B2 d? << A I3 4R 07 T2ilod 190ew 96 2 i el = |
(b) In the diagram shown below 3I current enters the network at

A. Show the directions and magnitudes of currents in terms

of I along any closed path including the battery. If the value
of each resistor is 2 Q, calculate I : o

OO (TYEA (I TG A [pe 31 Ryie e vk emiGs
RIS Ryes i < 13 iwre oo 31 M9 @Redl | 1% 2ifocs! ST
S 2 Q T (08 I3 T [l 511

T (T i oo A R 3 IRge 9 w70 | reanfics wmifs
fmres el @ [«q@ A e i T e | 3 2 @i i

2 Q 3 ©igeE 7 I [Ny |
3];{'\

-
==

ARAARA
YYYYYY

J%

A
L

31 7
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If a potential difference Vis applied to.the ends of a conductor
of resistivity p, length [, cross-sectional area A and total
resistance R, show that the magnitude of electric field

E = jp,where jis the magnitude of current density. Also show

that j = cE, where o is the conductivity. 2Vt o=3

ot p (@I, | TR, A 2P0 S R Y0 (J16F GO ARRIZR 72 3
sieTs V eaes Sl w91 28, (908 (TYedl (¥ (@S (Fa W E = jp,
s j 26 2@ WY | G208 (4N @ j = ok, TS o X~

i p IS, | T, A SRR SR R (6 QCE 92 ARIZH 12
Jem S v RSAIGA 2l I W, SR (1S (A (ST CRGE A
E=jp, @G j T &R e 4fos @S @A j=oE, @AE o 2

7 %w\l\:ﬂ [

State Ampere’s Cir
magnetic field at a d
carrying current L'H
length of the wire ?

cuital law. Using the law calculate the
istance r outside an indefinitely long wire

ow does the magnetic field depend on the
]‘+.1 Yot+14=3

ﬂ%@ﬁ@%ﬂﬁﬂ?{@%%@ﬁaﬁwﬁ [ Ry 2RI Gur

mﬁﬁamrvﬁwwmﬁ«@cﬁﬁ@cﬂw@mmwgm
Wwﬁ@wmﬁemﬁmﬁ@"ﬂa?
wﬁm@ﬁmﬁﬂ@%mﬁma@mmm@amﬁ—@ﬁﬁ
I EIEE rmﬂiﬁﬂﬁﬁ?@@fmmﬂWWm%m
meﬁm@%mﬁ@?ﬂ@?

- OR / 7231 | &30

etisation M of a substance. Draw the pattern of
es near (i) diamagnetic and (i) paramagnetic
hey are put inside a uniform magnetic field.

1+1+1=3

Define magn
magnetic field lin
substance when t

112]

SR (M) < 7@ R | IR 1R (e @S FRZI (i) o S
IR (i) G SRR AR TS (1% CRIERIS Wb (TRRceT foa
{5 | |

SR (M)-Ga K@ 7ie | 93 IR BifFE o e (1) a0

-3

SEpTRIT @R (i) G0 SRR AL A GRS CFARAR. WD
AR T oa i |

Mention one difference between an AC generator and a motor.

(c)
Draw a neat diagram of AC generator and indicate there (i) the
coil, (ii) the slip rings, (i) the axle and (iv) the carbon brasses.
' 1+4x%=3
1 AREST 2@ BeAr T Bl S5 WSS 4Pl 51 SN ST 4|
a5, e Serlma GOR HARER B S IR ©rS (j) T, (i) Eol &,
(iii) 4= S (iv) Fide aiz fofze i |
G755 RS 2R1T TeART 78 T TR T AR G AL S
el @& ¢ 2eE SeimEe ARed ba wEE S Fvre i) TR,
(i) Tt R, (ifi) TR G (iv) TR T DTS TR
: OR / AZW [ @23l
Discuss any three of the foliowing in the case of a transformer :
(in very short) 1+1+1=3
(i) Flux leakage .
(i) Resistance of the windings
() Eddy currents
(iv) Hysteresis ) ‘
451 R (RS ©Te El eit fOfblY \@sRe TSl w4 ¢
(TS bICF)
() EeR A
(i) AP S
(iii) «fe 7R
(iv) TR
20 / PHYS [13] Contd.



G GG O NI (ST (X~ [erba oA Sitetiva) Sl
(Tf A=)

(i) SIEEE S7hY
(i) N @
(i) «f% eRE

(iv) Rerape

(e} A ray of light is suffering refraction at a spherical surface of

20 / PHYS

radius of curvature R and separating two media of refractive
indices n; (lighter) and n, (denser). Show that

My M _TMaom fL .

i R 3
ny (FT9R) WIF ny (FS9) fSTRIE 92 AT 72 91 R Sy i
G (EIFR #pe 9B IR aforae 7ol myen @

VT O |
i R
ny (FTT9R) GR8 ny (9 AT 12 NEEE 7F T R ST ey

GG (iR =jed Gl MR TR 9Bz | (e @,

Tlaie T 7. Thaiglin
7w L R

OR/_S’?’??T/WW

Find the position of the image formed by the lens combination
given below. 1%+1%=3

w57 Al (3 I ofow a1 SRR SRR fdy =
mﬁ%mﬁﬁﬁamwﬁ%ﬁw@?w@@w|

'7 f=-10cm

0

20 / PHYS

State Huygens principle and define wavefront. To represent a
wavefront draw a semicircular line of a suitable radius. Now
draw the next forwarding wavefront by drawing a few secondary

wavelets after the time z. The speed of the wave is v.
' 1%+Y+1=3
Z3ceE Fiferol fordl oI \—o?riémﬁ,m sl fidl | @B G TS
ToRG APIER GOE TR (@ S | SR FRICIET 211 GO
(5Tl B4l SN zwvﬁ% SO I F9e] SERITRTE! S | O o
vl

ZRCET-GT T (o0l G7R TSR AT IS | ST QR
&) BTG PR G0 I (GR1 OF S | 94 @RI (3 2o

(5Tiel ©F5 CTF 1 IR 2R 5o 287 2RFS! ST O | O WS v

OR /[ 723! | 9%l

In a Young’s double-slit experiment, monochromatic light of
wavelength 600 nm is used. Determine the distance of the
screen from the slits if the slits are separated by 0-28 mm and

the distance of the central bright fringe and the fourth bright

fringe iz 1:2ent, 3

B -3 S, 600 rm SRIANTHR T (o112 7R 1 =0z | I
29 woR L 0-28 mm SIE @Y e 26 7 5ol TEE i vy
142 cm T, (Org feuaeEl oM 199 Fef |

26~ B-Row SRICS 600 nm STHACR G| SCE IR T LA
T fou E% BISRIT] 0:28 mm 4R (@Y TegE Ad (A @Q‘f@@ 5if%g
@Y 12 om ¥¥, O @ (F R RY e T
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Obtain the binding energy (in MeV) of a nitrogen nucleus
(I;N), given A |

m('5 V) =14-00307u

m, =1-007825u
and m, =1-008665u 3
m‘iﬁ’(ﬁ e () 7/ e (MeV @o) el =11 frai ey,

m(”’N) =14-00307u

7

m, =1-007825u
Il m = 1-008665u
TECGem FeeE (V) TE AE (MeV 930T) el ot | orea iy,
m(l.;‘N) =14-00307u
m, =1-007825u

g3Z m, =1-008665u

Draw a p-n junction and its symbol. Explain how the Ibarrier

potential is formed across the junction (in short).

Yot Yot+D=3
i Ba oSl 57 S | GGTOH® el freq R

G5l p-n GG
% za 0 = (C) |
G756 p-n GIKH R 9 S
% 7@ gt Sl | CREFCA)

B oy FCALI GRS AR R P

OR / 7z [ @3

What do you mean by rectification ? In how many ways this
can be done ? What are they ? Draw just the output waveform
of a half-wave rectifier. , 1+4x1%=3

<t e % 951 7 (PRI B SR SR 7 ? GIRCean! (S @2 <ol
wifeagal FRMAF (T SITHo0 SH0T ol BT 91 |

e e O R @I ? B e T eI el (0O A ? e

N

5 Bo sl e WA (T SEo5[T OFerd Tl WE T |

4 Answer any three of the following questions :

T Tl T R oAt ed FRAL S
e smelE @ foqrs Ted ne 8

(a) What is an electric dipole ? Define its dipole moment. Derive
an expression for the total field at an axial point P situated at
a distance r from the centre of the dipole as

E =

A7z gyr® ) _ 1+1+3=5

e ..m@-%?wm‘ g g Tl | @6 ReeR @ o|
Wﬁm@mﬁﬂimﬁ CFq U9 MAEMCE g 4 |

E =

20 —; (r>>a)

4 est

o FacE ¢ < FORE-AR) TR GO | G FaTee (e (X0
e Al @3l e [ PTe (b (R WIS @0 S |

(b) Write in words when a combination of resistors is said to be
(i) series and (i) parallel. Arrange 6 resistors each of 1Q in
such a way that the equivalent resistance of the combination

1§ 1-88 Q. 1+1+3=5
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(c)
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@4 @Bl T (@Ol (i) TR O (i) TNEIE I R =
STl 91 | FANOE) (1Y 1-83 Q SRR AR 1 Q (€I 661 ([4F Fea) <ol
HACEH | i

IR G TN (i) (TR (i) TGN ToTl L I AP | FTgey
@4 1-83 Q SAIeTF & 1 Q @ 676 @A GIi Fes! Al |

A series LCR circuit connected to a variable frequency 230V

source as shown below, where L=50 H, C=80 uFand R=40 Q.
(Given o= 50 rad s71). syl

(i) Calculate the impedance of the circuit.
(i) Determine the rms potential drops across R, L and C.

(i) Show that the potential drop across the LC combination
is zero at the resonating frequency.

oS TRl IeaICE! GbT ARSI G FANIET 230V O e FHLAle T4
LCR %1, ¥9 L=50H, C=80 uF 9IF R=40Q|
(Tt @tg o = 50 rad s71) |

() FETR aferik Fefm w4

(ii) R, L W% C (e SIers Red Aend 9% e T fefd 3 |
i) crdedl (@ AT SRS LC e A [T oo %y

S5 (reT TG G SARETNE TR 230V SR M HKAs
LCR 3%, @A L = 5.0H, C=80 pF IR R=40Q]| (Creal ®itg

w=50rad s!)
() TSI aferid KR
f) R, L &Rk C ereyd T Ko 790 16 e 319 el o
i) CTte I ORI SRR LC TR M Ko Ao
R

(d) What is the maximum magnification of a simple microscope ?

e)

Draw a neat diagram of formation of image by a compound
microscqp‘e. Write the expression for total magnification of a
compound microscope in terms of L, D, fy and f,. What will
you do -for getting large magnification ? Calculate the total

magnification of the instrument if fy=1-0cm, f,=2:0cm and
L=20 cm. Yot 2+Ye+1+1=5

B! 7 SR TE A AR e 2 G S 9F 9ore AR
a5 2l SR e S | @O G s 989 30 AR9EE L, D, fo
o [ RS 2 6 | SRS SR AR o 6 Ele @ o 32

ﬂﬁﬁ@ﬁ@@ﬁﬁ Ty = G fe:_Q-IOcm ¥ L=20cm 24 |

G e SRR W@ A A Toe 9B @b SR w0y
sifofm a1 2eTE ~FER g S | @ h (@i S TER @6 7
L D, fo SR f, -G8 FALCY AH I | I ARG NeTR T o
FA@? oA (Wo SR Fefg @ W™ f, =1:0em, f. =2:0cm @&%

L=20cm 29|
Discuss diffraction of light due to a single slit. S
(AT 9% fomd Seien AEAIE! S5 34 |

iEd 9l ANE G Trma weies dfei Dl FE |

() () A circular coil of 30 turns and radius &0cm carrying a
current of 6:0A is suspended vertically in a uniform
horizontal magnetic field of magnitude 1-0T. The field lines
make an angle of 60° with the normal of the coil. Calculate
the magnitude of the counter torque that must be applied
to prevent the coil from turning. 3
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(g) Write short notes on : fany two)

59 (GIEl o1t ¢ (Rigsptzant wb1)
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(it)

@

(1)

(it)

On replacing the circular coil by a planar coil of some
irregular shape the same torque is found to be applied.
How would you explain the matter ? _ )

1-0TS 77 S GIfFT (Fg 92w 6-0A4 2RIR SIS 2451 305
AR W 8-0cm TP Ferela pea ol SIS )
(= (79 @IIEIE LT 799 7570 60° I IR <y peg
0 % IR0 LS (R &Sy 579 T4 sicitt <0 |
Wwﬁtﬁﬂﬂm%wﬁmwﬁ%ﬁaw%wwm
PETOR T4 @14 TR @ AR 56 eicrem el 3 |
FCH! ©fs et i <sf=ar »

G 1.0T 95 77 S GT5F (70d 6.0A4 EIR 929 <=1 306
vnaﬁﬁr@mmﬁsmmm@m@@ﬁ@mwmw
AR (FE @I PR TR HF 60° (@l T Wiz | PR
Qi T I G ARG 263 elfSEid B T sl < |

TSI PG S GG FTOTI SRR P ) 720727 Twgn |

T@%g@@%ﬁ@ﬁw&@m%m@ﬁiﬁmﬂml
2T PR FIoIE Pt F 2

21/2+2‘/2=5

e Bl 0=l 2 (C-CIeal 7io)

(1)

Gauss’s theorem

QISR
M FG

[22]
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(i)

(i11)

(iv)
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Series or parallel combination of capacitors
R (AT S T e
R (N AT ]

Conversion of a galvanometer to an ammeter or a voltmeter
4B (TSGR <O T SHRBRE ARk

G SFCSEAIRBINGE < SRR 1 S5 AR

Fission or Fusion

fcares Al Aares

fRcrem at e
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